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() LET‘S DO SOME GRAMMAR

PAST SIMPLE OR PAST PERFECT?

Fill in the correct form of the verbs!

) When they , the film
(arrive/already start)
2) Tonly the film because 1 the
book. (understand/read)
3) 1 a friend in a shopping centre. [
him for ages! (meet/not see)
') Suddenly we that we before.
(realise/meet)
o) 1 my homework by the time Susan
(finish/arrive)
6) The waiter a desert that [
(bring/not order).
7) My brother all the cookies, so we
new ones. (eat/must buy)
8) It easy to catch the thief because he
his wallet in the kitchen. (be/lose)
d9) Noah German before he to
Vienna a month ago.(learn/move)
[0) Susan angry because [ her to
the party. (be/not invite)
) I to book the ticket but I to
bring the money. (want/forget)
12) 1 tired because 1 really hard
that day.(be/work)
13) They the game because they
enough. (lose/not practice)
4) We couldnt cook because we any shopping, so we
) out for dinner.(not do/must go)
15) When she home she out that
someone into her house. (get/find/break)
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ADJECTIVES

slow

loud

strong

cheap

shy

beautiful

sick/ill

poor

stupid

pessimistic

dangerous

tidy

light

lazy

wet

better

alive

asleep

() LET‘S WORK ON OPPOSITES!

VERBS

arrive

spend

ask

put on

agree

give

buy

live

OTHER WORDS

man

yesterday

sunrise

night

friend

child

wife

behind
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PAST TENSES

Complete the text with the correct form of the verbs.
(Past simple, past progressive or past perfect)

Many years ago there ... (live) a businessman named
Ebenezer Scrooge. Everyone ... (know) him, because he
............................................... (be) a very greedy and selfish man. Scrooge
............................................... (not like) Christmas. He ... (b€)
only interested in money and ...........c...... (complain) about his
assistant, Bob Cratchit, who ... (want) to take one day

off to spend some time with his family at Christmas.

After Cratchit ... (leave), Scrooge .. ...
(hear) a strange noise. Marley’s ghost ..., (hover) over the
stairs.  He ... (warn)  Scrooge  that = he
............................................... (need) to ohange otherwise he would be cursed like
him. Scared to death, Scrooge ... (go) to sleep.

After some time he was woken up, because the window ...

(open). When he ... (close) it he .
(see) the first ghost in his bedroom. Tt ... (be) the Ghost
of Christmas Past. He ... (show) Scrooge a Christmas
from his past whenhe ... (be) happy.

The Ghost of Christmas Present ... (appear) in Scrooge’s
kitchen. He ... (show) Scrooge how  Cratchit
.............................................. (celebrate) Christmas with his family. There he
............................................... (see) Cratchit’s son, Tim, who
............................................... (be) veryilland, (N0t can) walk.
The last ghost ..., (take) Scrooge to a funeral. He
.............................................. (show) him a gravestone with Scrooge’s nhame on.
Scrooge . (b€)  very  sad, because no one
.......................................... (come) to his funeral.

After the three ghosts ... (visit) Scrooge, he
.............................................. (decide) to change and to stop being mean or greedy.
Cratehit ..o (become) Scrooge’s partner and Mr. Scrooge
.......................................... (celebrate) Christmas together with Cratchit’s family.
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